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2.

ints € [0, 1] whose decimal expansion consist of only 4 and 7 (e.g. 0.4747744 is allowed), is E countable? is E
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D Ui/ii. Is it possible that this inclusion is an strict inclusion?
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4. Last time, we showed that any open subset of R is a countable disjoint union of open intervals. Here is a claim and argument about closed set:
{\em every closed subset of R is a countable union of closed intervals. Because every closed set is the complement of an open set, and adjacent
open intervals sandwich a closed interval.} Can you see where the argument is wrong? Can you give an example of a closed set which is not a
countable union of closed intervals? (here countable include countably infinite and finite)
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